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SER O B IR X G E

HR3—2 BEWICEAT HLBESNHEHECET HERA/1) ) ) REEE | P29
StEftouE [ #SES | 14581019 [ElpiEa I 1 | RRTEHM | L7 LA X ORI
] SMER O TimICBEET 51 SERIMN
ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBRBDEILHOKRES TREOHBESSLNDKRES
7 100kN/m%#8z5 | 1.00 | 000 ~ 1.69| 12581 |3mZz#Ez2| — ~ — — — | 100kN/mM%&#82% | 1.00 | 1053 ~ 1640| 12581 |3m&E#BZ% - ~ — — —
st 1.00 | 1.69 ~ 947 100.00 | #nLst | 0.00 ~ 9.47 | 2.38 12.71 ThList 1.00 | 5.00 ~ 1053 100.00 | =nLst | 6,00 ~ 1640| 2.38 12,71
2 100kN/m%E#8z5 | 1.00 | 000 ~ 226 13513 |3mZx#Z3| — ~ — — — | 100kN/m%#z25 | 1.00 | 1091 ~ 1970 135.13 |3mEEZS - ~ — — —
ZhLst 1.00 | 226 ~ 10.04 100.00 | #hst | 000 ~ 1004 2563 13.66 FnLsn 1.00 | 5.00 ~ 1091 100.00 | 0S| 6.00 ~ 19.70| 2.63 13.66
3 100kN/m%z#8z5 | 1.00 | 000 ~ 1.08| 11629 |3mZz#z3| — ~ — — — | 100kN/ %825 | 1.00 | 1081 ~ 1410| 116.29 |3mE#BZ5 - ~ — — —
st 1.00 | 1.08 ~ 887 100.00 | =nst | 000 ~ 887 | 2.31 12.37 st 1.00 | 5.00 ~ 1081 100.00 | =nhLst | 6.00 ~ 1410 2.31 12.37
4 100kN/mM%#8Z % — - ~ — —|3mZEBRBD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 6.67 84.23 | #nS | 000 ~ 667|257 13.76 ThLst 1.00 | 5.00 ~ 10.00 84.23 | =hLS | 6.00 ~ 1000)| 2.67 13.756
5 100kN/mM#E8Z % — - ~ — —|3mZEBAD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%EHBZ D - ~ — — —
st 1.00 | 000 ~ 729 9284 | #nS | 000 ~ 7.29| 2.53 13.66 ThList 1.00 | 5.00 ~ 1120 92.84 | =hLH | 5,00 ~ 1120 2.53 13.66
P 100kN/mM%E#BZ 5 — - ~ — —|3mEBzB| — ~ — — — | 100kN/m%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst 100|000 ~ 715 90.83 | =N | 000 ~ 715\ 2.44 13.04 s 1.00 | 6.00 ~ 10.00 90.83 | =hsSt | 5,00 ~ 1000 | 2.44 13.04
7 100kN/mM%E#BZ % — - ~ — —|3mZEBAD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 6.91 87.58 | =nst | 0oo ~ 691 1.87 10.02 FhnLst 1.00 | 6.00 ~ 880 87.68 | #nLst | 5,00 ~ 880\ 1.87 10.02
P 100kN/mM%#8Z % — i — — |3mEBZB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FEZ 5 - ~ — — —
st 1.00 | 0.00 ~ 7.50 95.87 | =ns | 000 ~ 750 1.82 975 FhLst 1.00 | 6.00 ~ 990 95.87 | #nLS | 5,00 ~ 9.90| 1.82 9.75
9 100kN/ Mm% Z 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3m%FHBZ 5 - ~ — — —
Lt 1.00 | 0.00 ~ 5.03 62.74 | Thst | 0oo ~ 503| 1.97 10.67 ZhLst 1.00 | 6.00 ~ 6.00 62.74 | NS | .00 ~ 600 1.97 10.67
100kN/ Mm% 25 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
ThLlst ~ TnLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zhust ~ Zzhust ~
100kN/mM%#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZFnLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZFnLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% 25 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% 25 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




